oh ek TRANSITION METALS (E)

Write equations for each of the following conversions, and name the reaction type.

a [Cu(H0)e]** — [Cu(H20)4(OH),] using NaOH
(=T [UE=1 (o] o TP UR T UPOP

(ST 1o o] o T £ 1= TSRS U PR UUPPPRTRRN

b [Cu(H0)]*" — [Cu(H,0)4(OH),] using NH3
(=T [UE=1 (1o ] o H R TUURRRRSOPON

(ST To3 o] o T 1] 1= T USSP UUPPPRTRRN

¢ [Cu(H0)]** — [CuCly* using HCL
(=T [UE=1 (1o ] o PR UUURUPPRUPOPIN

(ST Te1 o] o T £ 1= T TSRS U TP UUPPPRTRRN

d [Cu(H20)e]*" — [Cu(NH3)s(H20).]*" using NH3
(=T [UE=1 (o] o PSP UPRRPPRSOPON

(ST Te1 (o] g T £ o1 T ST U PR UUPRPRRRTN

e [Cu(H20)e]”* — CuCO; using Na,COs
(=T [UE=1 (1o ] o RSO PPUPPRRI PPN

(ST 1o o] o T £ o1 T USSP UUPRPRRRTN

f [CU(H20)4(OH)2] g [CU(H20)6]2+ USing HQSO4
(=T [UE=1 (1o ] o RSO PPUPPRRI PPN

(ST Te1 o] g T 1] o= T USSP UUPRPRTRRN

g [CU(H20)4(OH)2] g [CU(NH3)4(H20)2]2+ USing NH3
(=T [UE=1 (1o ] o RSO PPUPPRRI PPN

(ST 1o o] o T £ o1 T USSP UUPRPRRRTN
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